7l — MRS

It 5% %

EEH® = 2

B K %

100

[E] 4R #% #

100

[E] 4R = (%)

100.0

Bl1. REIS2=FT1EU2—DHERERZVLILRTTHM(VDEDET)
i 2 E R | POEE | PR A MM H
=] % # 78 15 3 0 4 100
HEER D il B B KOOI 3, 3% R 0,0%
EEE, 4%, 4%

PR, 1548, 15%
2. BEOBRE-EEIHL
BIE-EEOML B W F ] E (| EEE Hi
] & 4 84 16 0 0 100
BEORE-FEEINL =0, ot 0%

|MEE, o, 0%




3. BRDIELLEH

BROAEELEH

L& & B W T & = EERAS it
] & # 85 15 0 0 100
|MEE, o, 0% =\, 044, 0%




Bl4. BEOEROTORWG

® 0O ®x G B W L& E |\ | EAZ 5

=] & # 86 14 0 0 100
= E (N, 01, 0% o= %“.:, , 0%

BENDEOTORG # &, off, 0%

f15. BROBETOXG

T O ox IS B L L& E (Vv | &EE it
] & # 75 12 0 13 100

BROEETOR I

E0, off, 0%




6. HWRILIZETHBME DRI

BHIRED RIS B W S ZE (\ [ =

=] & ] 75 17 0 8 100

B|EE, 8ft, 8%

EHERIEIZEHT A DX

E, 04, 0%

7. h&-H#EFOMKHEAICEY DR D@

ERFOMEKHRA| B L ] EL | EBE &t

=] & # 73 23 1 3 100

WS BRSOIRHACETIBEAONE =i 14 1%

JEE, 314, 3%




8. MEXANDARS

EERRDFRS B W S ] ZE (\ [ =

=] & ] 83 15 2 0 100
£ : Y, 24, 2% o

HRADERE s |EZ, 0L, 0%

9. HBFHERWIIERTI M

=&, 1044, 10%

pExRLOERS | B0 | TE | Bu | A5 | &

B & % 90 10 0 0 100
N N =Y, 0%, 0% o
BERDORRE # RIEE, Off, 0%




f10. HEETHAICGONSERIK

M R 8 E |ELoHT|E2~3E| &1E | AtlE A2 | £t | EE

A

] & ] 0 13 45 14 23

100

EEE, 14, 1%
LT, ok, 0%

LEEEZCHAICELNSE BT
FDth, 418, 4%

E2~3[E, 1344, 13%

11, CHERIE
(i3 Bl | &=t | B

=] & # 82 17 1 100

|MEE, 114, 1%

SR




B12. CE#®RE

F i 10 X 20 X 30 £t 40 1% 50 1%

m & % 7 4 8 13 19
60 1 70 X |80 AL | EEIE H
17 29 2 1 100

CHER BORELAL, 20, 2% gmmac (g 10

201K, 444, 4%

301k, 844, 8%

101X, 744, 7%




—_

[13. HEFWI, ELLTTH

O ©O© 0 NN o O b W N =

REFENE ] EER BEFEWNI. EBTTH EHR, 26 2%
[Lic] 3 0
TR 0 B4, 118, 1%
KERX, 3, 3%
RERX 3
RiAR 4 RIBRK, 4%, 4%
X 0
BE 0 EWEX, st 5%
SEFIR 2
X 7 MR, 7, 7%
X 48
EHEX 5 FEX, 04, 0%
ik 18 X, o, 0%
251 1 L, o4, 0%
o1& 12 hRX, o, 0%
DL B HREREETL
ESE] 9
AP 9 j:PE
A0
BKM 6 Kt
Z R 2| | EE=®E
== o|| EXE "
— == mA
= A 2 = m
ES{E 11| EXF
KK || xf
EE
i‘@u 1 ! T T T T
R 1 0 2 4 6 8 10

MAHDZWIEICEG10BETIHE A AL TTEL




Bl14. HEEICHHELOBEDRZEMEI XFITLLSH

]

=]

fin % | BEkE |BRAE

INR BE | TOfh

100

-3
=]

E # 8 8 76

=]

1 6 0

NR 1% mmEes 14 1%

LEEICHHBLOBROIEMBE XA TLLD
EH, 614, 6%

BERE, 814, 8%

&5, 8tf, 8%

Z D1, 0, 0%




